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13.3 MULTIPLICATION WITH EXPONENTS

A Write each first in factored form and then in exponential form.
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B. Calculate each of the following and leave your answers in exponential form.

7 1 o
1.2 x 24 2 2.2 x5 5 3.5 x 540 9
1o 12 10
4. 8 x & B 5.9 x9 1 6. 8 x 8 &
g NG
7.8 .8 % vs (-3)° x (3 €3) 0. (=57 x (=5 (-5)
-9 =]
10. (92 -(®® ) 1. 192 x 196 19 12,205 x 20% 2D
, 12 13 ’ IR
B2 2 x2 20 145 x5 x5 5 158 x8 x8 &
2 10 16
I.'
16. 3 x5 39 17. 15 - 15° - 15* 15 1s. (-5) - (9° - ( 5)3 (- 5)
-9 | 13 5. ()
19 72 .73 .74 T 20 (95 - (%° -7 ()2 & T -6 %% 71°-
- =2 . -
22. 3% x 3* x3% D 2357 -59;.;@““ 5 L)24. (8*(8%)(8 ) 3

EXPONENTS




CANADIAN MATHEMATICS 8

C. Calculate each of the following and leave your answer in exponential form.
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